JdodcodououodpPbFOUOOUOOUOOUOUOO
Ooooon
https://www.100test.com/kao_ti2020/448/2021 2022 E8 AE Al _
E7 AE 97 E6 9C BAC c97 448762.htmI 000000 OO
Jododoboooodobooooooooooobooo
Jododoboooooouoodooooooooao
JcOloduouououooonoooooooona
J0o0dooooooodoooooooooooooa
J0odoboooooodoooooooooooooa
J0odoodooooooooooooooooooo
JO000o00o0oo0oodooooooooooooon
Joocduooonoonoonooboooooooouoo
JododobD oo oo [pouobjoooo oo
Jdodoboouoooobooouooouooouoo oo
Jododobdoooodooooooooouoobooo
Jododododouououd dbdintaj10]. 000
00O 0Oald 0100 00O O float b[10],c[20]. U O O 0O O O b O 10
Dod00o0o00d0cO0O200000charch[20l. 00000
OchOd200 000 000dodoooooooooogn 1.
JO000o00o0oo0oodooooooooooooon
J000o0ooooooooooooo200000o00
Jdodobooooouo3oodooooooon
00000 voidmain(){inta.floata[10]. D O} O O 0O 0O O 4.0
Jododododododououodahsuodoads
Jdodododouooooooooosgouood
a[0],a[1].a[2],a[3]a4]U 5.0 0000000000000



o000 oooooooooobooooooon

[1 #define FD 5Svoid main(){ inta[32],b[7FD]. 0 O} O O O O
Jodododododod void main(){ intn=5. inta[n]. [
e ooooooooooouooodo
000 intab,c,dkl[10],k2[20. D0 0000000 OO OO
Jododododododododododo ooon
Jodododododoouououououoooon
Jodododododouooopuojooooood
Jododododododououocuououod
DOo0O0ab]afijlafi]l0d0odododooooon
Jodododododououoobooooooon
Jcododouodoiououoonoooonoonod
D00 dooooolooooooooooooooon
Jodododofor=0.iD0000000O00O0O0OMO
OO000000000 0 printf("%d",a). void main(){ inti,a[10].
for(i=0.i a[i ]=2*i1 1. for(i=9.i1>=0.i--) printf("%d" a[i]).
printf("\n%d %d\n",a[5.2],a[5.8]) .}for(i=0.i a1 ]=2*i
1.for(i=9.1>=0.1--) printf("%d",a[1]).printf("\n%d
%d\n",a[5.2],a[6.8]). O OO ODOOOOOaOOODOOO
Jododododododouooooodouoodo
DOo0O0forD00O0O0O0OO300O0O0O0OO0OO0OOOONO
Jdodigoooooooooooodoferododon
JocOiliouooonoonodnod oonuododprintfdd
Dododoepuiboododouodooouoouo
Jododododododouooooodooodo
Jodododoouououououooouoooon



Jododododododouooooodouoodo
Jododoouououououooooouoooon
Jod0od0ododoouoooboonoonodn static O O
D00 oodpuoooo]={ugtuouod}d O static O
Jodododocouduooonoonoooonoond
Jododooooo@uonooooooooooon
Joooo)yoo{jpuoooooooooouoooo odgo
DO0o0o00doodn staticintal10]={0,1,2,3,4,5,6,7,8,9 }. U
O Oa[0]=0.q[1]=1.a[9]=0.CUUOU0OU0OOODODOODOO
Jododlgoooooooooooo{ijgouoouo
Jodododouodouooonoondn staticint
a[10]={0,1,234}.0 0 0 Ua[0]U a4 0 000 00O 0500
Jdodoodbo20000o00ooooooooooodag
O 0o0dodououoloodndnnstaticint
a[10]={1,1,1,1,1,1,1,1,1,1}. O O O O O O static inta[10]=1. 3.0 O
Jododododododououooouo 40000
Jodododododoououooooouoooon
[0 0O 0O staticinta[5]={1,2,3,4,5}. I 1 0 [ static int
a[]={12345, 00000000000 ououooougo
D000 o0doooboobodbscanfU 0000 OOoOnd
(1 O void main(){ int i,max,a[10]. printf("input 10 numbers:\n").
for(i=0.i scanf("%d",amp.a[1]).max=a[0].for(i=1.i if(a[i]>max)
max=a[i]. printf("maxmum=%d\n",max). [ 00 O 00 OJ O O O for
Jododooooodoadd Oodajo]ddmax OO
OO00OforDO00O0OOa[l]Oa@0 0 0maxO0 DO do0on
OmaxU O OO0 0000000OmaxdOdOOmaxd OO



Jo0o0oboooooodoooooooddnmaxdd

[1 void main(){ int 1,},p,q,s,a[10]. printf("\n input 10 numbers:\n").
for(i=0.1 scanf("%d",amp.a[i]).for(i=0.1 p=i.q=a[i]. for(j=i 1.j if(q

If(i'=p) { s=a[i]. a[i]=a[p]. a[p]=s. } printf("%d",a[i]).} O U O O

Jdo0odoodofor0000oodoforidononn
Jo0odooootbdforodonogolodonooonoog
O0forD000O00O0O0O00O0OO0OOO0OOO0OOOOO0
Jooiooooodoboooooointdpooond
OO00OqiUbOqguuoodoodobapljooooonn
Dood0daqoobobaeijuoodoodopboon
Og DOO0OO0O000OpOO00D0O0oodguonOd

JO0o0d0bDirpdOUpquUi00OOO0OOOoUoOooOOn
Do0odobaeiUaploUd O0aijdonoooddn

doodoooooooooodonligoooooood
10TestH O DO OO0 O0O0ODO0OOoooOooooonn
www.100test.com



